4-8

10

11

12-22

S

N02
NO3
NO4



54

ASUM
BSUM
CSUM

{

202 .
203

11

*1

*4



>
/1

SUMY

X
S.D.
r

R
R2

R2 Change=

SE.

est

55



20 - 25
26-30
31 - 35
36

6-10
1

84
112
44
58

196
58
44

37
260

28.2
37.5
14.8
19.5

65.8
19.5
14.7

12.4
87.3
0.3

56



26-30 3
36 3

37.5
28-2
35 3 14.8
65.8 6 - 10 3 19.5
14.7
12.4

0.3

19.5

1-5 3

1

57

20-25 3
31-

87.2



(y"-y )
(o V1o
(y20- X43"
a2y 50
4
(X = 3823

(X = 2.96)

3.05
4.02
4.23
2.96

3.82

S.D.

1.12
56
AT
98

95

(X

58

4.23)



Nurse Note

3.22

3.20

3.19

3.13

3.13

3.12

2.82

2.57

SD.

1.30

1.16

1.25

1.41

1.42

1.20

1.40

1-35

59



x = 3.22

1

x=2513

60



A.K. Amputation

15

4.64 546
458 -57
457 .59
4.50 .69
441 73
437 -78
4.05 .80
3.95 .90

3.22 1.13

61



10.

11.

62

3.09 1.28

2.87 118

(X = 4.640

(X = 2.870



10.

Scrub Nurse

Scrubbed Nurse Circutating

Nurse

Back Sterile

~ oo 55
466 .52
4.62 56
458 .57
458 .58
4.57 .65
452 68
4,52 .82
450 .60
4.47 63

63



11.

12.

13.

14.

15.

16.

17.

18.

1g.

Sterile

Sterile

|

(Circulating Nurse 1-2

)

4.46

4.45

4.43

4.39

4.30

4.19

3.98

3.95

S.D.

64

11

612

66

62

.80

87

89

98



20.

21,

22.

23.

24.

o= 2.90)

Closed

Method

( 21 =24 )

Scrub Nurse

(X = 4,66)

3,85

3,78

3,60

3,53

2.90

S.D.

1,32

.86

1,00

95

1.32

11wt

65



stump

3.53

3.53

3.05

2.83

2.1

2.64

2.55

S.D.

1.15

1.15

1.25

1.28

1.30

1.26

1.29

66



1

(X = 3.53)

(X = 2,55)

Stump

67



20 - 25
- 28

170

85
130

30.02
5.57

119.14

56.50
90.11

6.78
5.18

14.61

8.60
12.84

30

68



10

20-25
26-30
31-35
36

1-5

6-10
11-20
21

(£0
(N = 84)
(N = 112)
(N = 44)
(N = 58)
298
(N = 196)
(N = 58)
o = 30)
(N =T

3.80
3.83
3.82
3.80

3.81
3.85
3.75
4.04

S.D.

95
94
57
58

93
61
o7
61

10

62

69



10 ()

X
3.
(N = 37) 3.72
(N = 260) 3.83
N = 1) 1,02
298
I 10
4
.05
6-10 11-20 21

.05

05

S.D.

-62
-54
-00

10

70

1-5



i ! ]

YSUM YSUML  YSUM2  YSUM3 YSUMA NO2 NO3  NO4 ASUM  BSUM  CSUM

(YSUM) 1.0000
(YSUM1) 7928 1.0000
(YSUM2) 8794%  6038*  1.0000
(YSUMS) 8401 3998 .7592'  1.0000
(YSUMA) 8335 6911 618 5518 1.0000
(N02) 0257 0139 .06(7 0120 0458  1.0000

(NO3) 0376  -.0263 0781 0383 0535 .8385* 1.0000



11 ()

YSUM
(N04) 0684
(ASUM) 2881 *
(BSUM) 4461%
(CSUM) 4331

{09

YSUML

-.0018

1603*

3280

2843*

YSUM2

08138

2811 %

A4233*

L4467

YSUM3

1022

3137

3920*

A192*

YSUM4

0382

. 1879*

3496*

2894%

NO2

-.3041*

0018

0946

1269

NO3 NO4 ASUM BSUM
-.3119* 1.0000

.02 63 0020  1.0000

0682 0231 4903* 1.0000
1560* 0172 3834*  6641*

-

CSUM

1.0000



.05

1

43

-05

73



(R2)
‘ (R2 Change) '

R ' R2 'RZChange F

(BSUM) 4461 1972 L1973 73.5380
(CSum) 4820 2273 0301 44.6887
*p< 05
VA (BSUM)
05 1973 (r2 = 1972)
(BSUM)
19.72
CCSUM)

22737 (r2 = 2273)
05 (CSUM)
(BUSMitfisj £\ 3
23.25
(CSUM)
3.01 (R2 change = .os01)



13

(BSUM)

(GM)

4822

)
1

R2

13
4822

(BSUM)

2213

2835 9126

2449 5276

S'E'GS{l
d

overall F

CCSUM

05

75

S-E’b t
5197 4,155
1470 3,590*
10.6349
= 91.6790
= 44,6886



(CUM)

(B - .2835)
(B = .2449)

91.6790 + .9126 BSUM + .5276 CSUM

.2835ZB + .2449ZC

2273 (R?

76

(BSUM)

2213 )



77

14 - {®
(R2)
(R2 Change)

Sn*
R R2 R2Change F
(BSUM) 3280 .1046 1046 35.6768
*n .05
14 - {
1 (BSUM) 1
1046 (R2 = .10463
1 é /\ 1 I /\
(BSUM)
A (Assesment) 10.46

.05



78

15 | (b) 8)

h
ys*
B . h S.E.b
{
(BSUM) 3280 3434 0575 50973
R = 3280 S.E.est = 3.2850
R2 - 1046 a = 49733
overall F = 35.6768*
*p <M 05
15 {
3280 -
{
ys { (BSUM)
05 ! 1
(B) 3280 {



Y1

49733 + 3434 BSUM

.32802.8

10.46 (R2

1046}

79



80

16 ' ! (R)
(R2)
(R2 Change)

R R2 R2Change F
|
{
(CSUM) 4467 1968 1968  73.7839
{
(BSUM) 4777 2230 0262 43.6193
*p <A. 05
16 S (CSUM)
.05 ! 1968 (R2 =
+1968) 1 (CSUM)
19.68
{ (BSUM)
2230 (R2 = 223 ) !
05 {

(BSUM) { 0CSUM)



(Planning) 22.83 {
(BSUM) !
2.62 (R2 change = .0262)



82

17 ! (b) (B)

b
B b S.E. t
{
(CSUM) 2962 1422 0339 4.330
{
(BSUM) 2266 1626 0490 3.312
R = ATTT S'E-es? = 23772
R2 = 2230 a = 222291
overall F = 43.6193
*p <M 05
17 2
AT77
2
(Planning) {

(CSUM) I (BSUM)



*05

1 (B)
B B = .2962)
(8 = .2266)
(CSUM) ,
(BSUM)
*y = 22.2291 + .1422CSUM + .1626BSDM
3 = .2962ZC + .2266ZB

2230 (R2
2230)



84

18 R)
(R2) 0
(R2 Change)

R R2 R2 Change F
(CSUM) 4192 1730 1730 63.,,4%
(ASUM) 4507 1978 0248 37.6073
*p <M, 05
18 ' (CSUMm)
sl 1730 (R2 =
1730) (CSUM)
(Impie mentation) 17.30
(ASUM)

1978 (r2 = .197 )
05
(ASUM) (cSum)



2.48

20.32 1

(R2 Change = .0248)

85



19
1
(CSUM)
(ASUM)
R = 4507
R2 = .1978
% (.05
19
4607

05

86

3505 3050 0490 6.228

1793 1372 0430 3.186%

SE. gt - 5.3624
a - 57.6548
overall F _37.6073
2
2
(CSUM)
(ASUM)



fl

(B)
(B = .3505)

(B = .1793)
(CSUM)

(ASUM)

57.6548 + .3050CSUM + .1372ASUM

.3505ZC + . 1793ZA

19.78 (R2

1978)

87



20

(BSUM)

" .05

20

1192 (R

.05

(Evaluation)

88

(R)
(R2)
(R2 Change)
R R2 R2 Change F

3496 1192 -1192 41 .2063*

(BSUM) 1

(BSU)

11.92



89

B S.E>b y
(BSUM) 3496 2794 0435 6.4, *
R = .3496 S.E.eS{l 2.4868
R2 = 1192 a = 49189
overall F = 41.2064*
*p </.05
21 - ' {
(BSUM) 3496
{
l{l
.05

(B) 3496 | 1 {



L4

49189 + . 2794BSUM

. 3496ZB

11.92 (R2

90
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